B IR BT RRAS SRR AR - FH

Wer-1ype Wulil-plare Magnetic Clurch and Brake

I\ RSiEEESES - AIEEs

o EH A2 V) 5 90 PR B T R, > ESE LA B E R ERRI MR ZR G - R RE

[—

B LB ERRREE -
S RATEEA T RIRRT R R B - W DU ) B Ry R A it 70 F B R R AR A o W H D)) (2
wt7)) o EERSRIURT - REISERRSET HR -

Chain Tail has developed a new type of wet multi-plate clutch and brake assembly based on proprietary technology.

This is the first unit to utilize power transmission from the outer side, a design which greatly simplifies installation and operation.
we have also used a specially-finished friction plate which makes start-up and reduction times for torgue more precise.

This simple but sffective design also reduces the level of drag torque (no-load torque) and improves operating efficiency.

= 2% Clutch S EE 32 Brake

%5 f2 Special Features

BEENE. . AREATERRAEENERE  BNFRBISEREBDEHRRESHEE - 59 » HRSHER TIEHEN
ENR% ﬁﬁuﬁﬁﬁiﬂb (ZEE_HI) -/ -

Precise response. The specially-treated friction plate is particularly responsive in terms of start-up and reduction times for
torque. In addition, its use in combination with a special release spring decreases drag (no-load) torque.

HARENHEE. .. REREREF LA . UERERRAENEELE - MEfMENSHENTRRER (ESRER) -
O ARME tlﬂizEEJ’IﬁHEEFI AEE R -

No adjustment needed. The magnetic coil is static and does not need dust brushes or similar protective devices. All components
are located in the main body (the clutch housing) for fast and easy installation with no need for further adjustment.

EIAE/N - HAOX. . . EREMATREN - FmAENRESH » A28/]WRE  AMAEENHDAESAN - X EEE
HZ 3= » qjfRE S ERRMmEET -
Compact and loaded with torque. This design is smaller in every way than competitors' offerings, yet it delivers more torque
than any other model. This, together with its ease of installation, makes it the ideal design for use with machinery.

L) i® NPT RTHYERS TIE. . ... BEBRDAERHETLIEPFTEFTAERS T - BEHEREINEA -
Greater capacity for connecting work. The unit can be used for strenuous applications, including lubrication and oil connections.

ek .... HEEmEaR - RIERIEINER - BANRKRWHETRIEAR =SNG » AULERREESELD » R
R ESNERAGRE FTRMOLERRSORARERTR (FXKA) -

Extremely durable. Even with high frequency and high speed applications, the highly effective hydraulic membrane can use
borderline lubrication conditions. This may reduce friction
considerably, and maximum durability can be guaranteed only in a normal operating environment (semi-permanent).

W BBt %R Applications and Torque Ranges

T{Fests « (EEK ~ K - 850K - SEEERIMN THER) ~ Emiity - REEHE - BE8W - KT - i8R - SHREW
(PTO) ~ At —BEZERIK -

Machine tools (lathes, dnlls, millers, multi-purpose auto-finishing machines), construction machinery, forging machinery, transportation machinery,
wood-working machinery, boats, special-purpose vehicles (PTOs) and other production equipment

B RET S R B Standard Friction Torques
= a0 . 3kgm~20kgm Clutch = 0.3kgm ~ 20kgm
AEEAR0. 3kgm~20kgm Brake =0.3kgm ~ 20kgm

ARTIMEERHERNERAREKLNNR Y o Other models and specifications are available on request
74




VMWJ . MW Structure and Operaiion
soIRIXEIE

EREEER B AR AR - EEZEWELTKR r ARMARENGES - ZBRIERSRELER - &
RO - BRSCERIFARBIERENID R - SESSRIVEGMERER T - FESNEFHEARESIREERIE

When the coil is energized, the rotor, inner and outer plates and armature are all magnetized. The inner and outer plates are
strongly connected, and the friction generated causes the clutch to engage.

When the current is cut off the friction plate spring pushes the outer plate away and the clutch is disengaged.

The brake component operates on the same basic principles as the clutch.

= o tH O % Lead Wires
Wi 528 Clutch ~ BEEAER EERE24D0)
Connects to power source {24V)
In-plate Anti-rotation Tab

AR e

O R
Qut-plate

Coil

=i e
Armature Plate
RS Bearing
Clutch Shaft
ENER
Release Spring o 1 9
Magnet Field
0B R
Armature
X EE#E Brake
Lead Wires
- : BEEERBR (EERK24VD0)
ERe Gonrll_acts to power sourca (24V)
Mounted Ring
| —o e
Magnet Field

= i 4R 0

Armature Plate

P31 @

In Plate

oK
Out Plate



Qp@[r@ﬂ’ ng Guldelines

] ZERIAYE M ®IE Checkpoints before installation

RS R MERASERREMR - SHEENZRIEE - .
AEMBEAAS IRTAHBHER - T )

B Most clutches and brakes include some soft or fragile materials.
Ensure against loss or damage to part.
Do not force or crimp lead wires.

-
- o

) ZERAYEMEIE Checkpoints during installation

{

|
RS « JERATRIRSRREEAIIS B H7 h6H9w - AL
%o B4 DEBREREHSH  AOERNES - Q / J

B Consult JIS B H7 specifications on installing the clutch and
brake on the shaft. These must be securely attached to the *-—1
long side of the shaft with no play.

IRER » EXAEITERESIAIRCSIAINERE @ ISRl \
HENEREWERE - REXNERENMERSIEFIAER — "
ERiTAREE » BEER - RENEHFERRYME - jr{—
{BsRRIFED/100BLF o

BWhen removing a core, exercise caution to maintain alignment BN
between the driving and driven cores. If the cores are mis aligned

by ﬂi 1 1
or at an angle the effective life of the unit will be severely affected. Iﬁﬂ%*ﬁﬁ& H %E%E
, : . : Assembly diagram for wet multi-plate clutch
Alignment tolerance varies for different models but is generally

!

less that 5/100. MWIELURE S 22V B A 24 5 {51
Basic assembly plan for MWJ clutch
BRI IER A 2R REREHO D » REHMMKNILERZ
FHEBIT] -
B The magnetic top plate is used simply to prevent rotation and £ Model | 152 255 003 010 020
should not be firmly attached to the long end of the shatt. ARY{(mm) | 5.5 h.5 6 6.5 9.5
IR RENSRETWMNZRAUMBELER? - BE » BIER
ERNERIREERE » FEHNBEIRESSS - Il T
B Consult Figure 2 for positioning of the coupler and clutch body. ,\ | I
In addition, bolts used to hold the coupler in place should not @ ' % s— j
be too long, to avoid making contact with the clutch. X I
A P e K f B j \
PRARRRSRIERRBARE - KT EARRHERNT == S| -
N2 - WEHHEAEHNE - i YT ()
B Screws should be tightly fastened in installing the clutch and o ﬂ
used with the locknut. i R g T—— |

RS EEFNEIVEREREE). 04mmA T » ZicEEEE] \/
MNEAEEEGT0.0ommA T -

B Centerline alignment of the brake and main body and the shaft

should be within 0.04mm, and installation surface should be /
within 0.05mm of a right angle to the shaft. |
B0 B e IRF AR ER BRI AR AlE#RZ AR - |
B Position the internal brace in line with the segmental |
shatft or the bearing race. »ﬁﬁ %Hﬁ EEge %EM
P ZERERENERANERT  BERENESEIMET Assisiribly digrarii for wiet muli-Giste brakes
FFSE - LIRIBES B R A EE BRI HE(S Mw T 5 3| 25 22 i BL A 22 8 &5 5
B'When making an installation in a gear box or housing, design Basic assembly plan for MWI brake

a cover where possible to facilitate inspection and maintenance

of the clutch.
76



MAT) series

Leadwire

500mm

1

71 G
EERAR - BIER2E

il hole G
4 friction plates, 2 bearings

dH7

R
Elism

aD

&l % MODEL MWJ]152AA MW]2S55AA MWI|005AA MW]010AA MWI]020AA
it e [gm](Nm) 2 5 (25) 5.0 (50) 10(100) 20 (200) 40 (400)
s [kgmI(Nm) 12(12) 2.5 (25) 5.0(50) 10(100) 20(200)
TSR Power [24VI(W) at 20°C 12 17 22 36 45

A 80 95 112 132 157
B 73.4 87.5 103 122 145

& C 71 85.5 101 120 142

7 D 78 93 110 130 155

= E 47 56.5 62.5 77 91

e F 2.7 3.7 4.5 5.5
G 2
H 6.3 6.5
X 53 63 69 85.5 09.5
L 45 49 57 63 73
M 13 14.5 17.7 21.1 26.6
N 8.3 8.8 12.2 14

- 0 25 2 1.2 1.4 25

_ P 10 11 12.5 14 20.5

3 Q 215 235 275 237 31

= A 12 14 16

Shait S ) 2.3 3

W 9 10 12
d 20 25 30 40 50
: 8 8 12 14
; 217 26.7 325 425 52.5
& B weight {kg) 1.4 2.0 3.0 4.8 7.7
{RMFE T Protective band GD80KD10 GD80KD14

[£4




MWI[ Serles

Leadwire
500mm

4-F-HFE

(14 % : 4-F-H, depth
' 1§
- >< HTT4-G
" e I bEg Qil hole, 4-G
. [ I-_—I T
M F“I N lF’ "8
| =M — $ ¥ .
&
¥
_|_ ¥
¢ O ;
Al $F MODEL MWI1S2AA | MWI2S5AA | MWIOO05AA | MWIO10AA | MWI020AA
S Pt s [kgml(Nm) 2.5 (25) 5.0(50) 10 (100) 20 (200) 40(400)
BEREE
O Ficion Torege XERINE) 1.2(12) D 5 (25) 5.0 (50) 10 (100) 20(200)
N3 Power [24V](W) at 20°C 8 12 18 24 28
A 80 95 112 132 157
B 73 87 103 122 148
g C 42 50 60 70 95
3 D 32 40 50 56 74
= E i ' 80 95 116
Rediu F M5*0.8P M6*1P M8*1.25P M10*1.5P
G 2
H 8 12 20
L 30 37 52 61
M 3.5 4 3 4 7.8
) N 23 07 33 35 48
_ P 3.5 6 9 13 5.2
3
Q 7 8.5 10 13
=]
S " . 1
Shaft
d 20 25 30 40 52
b 6 12 15
t 21.7 26.7 32 425 57
E & Weight (kg) 0.7 1.3 2.0 3.3 4.5
{Rem>r— Proteclive band GDS80OKD10 GD80OKD14

78




MY series

' i J8ilX Connecting Plate

p L. S
|
! ] )
I
D g
E 19
+ T s P s
E
ﬂ y
' ;: I v
A % MODEL MWI1S2AA07 | MWI2S5AA07 | MWI005AA07 | MWI010AA07 | MWI020AA07
A 82 97 114 135 160
B 68 80 95 115 135
C 56 65 78 95 115
;: D 74 88.5 104 123 146.5
R E 4-M5*0.8P 4-M6*1.0P 6-M6*1.0P 6-M8%1.25P
) L 21.5 23 26 32 38
Exterior
dimensions M 2.9 6 95 ! 10
N 13.8 17 16 25 22
P 7.5 9.5 9.7 1.5
Q 55 6 55 7 9
SN Weight (kg) 0.15 0.22 0.35 0.51 1.1

79




MWJ Series

IR ZIEEES 88 Wet Multi-plate Clutch

ZE B3 1R & 38 SPECIFICATIONS:
Model : kgm{Nm) kgm(Nm) e Voltage Power | Maximum numberoftums [ Waight
MWJOSBAA|  0.6(6.0) 1.2(12) 24V 15W 4400 1.0
A
E O
8.0 S
> | R4.0
L
N ( :
Leadwire =
o 4
4-K
"'\x !
) 0 .f |
” / 2
'
8D ot
4-p R 7 !
B

O
O
Im
Tl
0
-
P
r

& ﬂR +|A|B
MWJIOSBAA | 41 1374 73 |63 |54 (25110124 [M4 (85 3 |11 | 11

MY series

EE 00 3R 18 3= SPECIFICATIONS:

12|79 3 |1.2|45|135|85|16 | & | 18

iy | DERRE | SERERE wmocv)| px |S58E (m) | &R (k)
Model %mw Stahck;r:]h{::]um Voltage Power | Maximum numberof tums | Waeight
MWIOSGAA 0.6(6.0) 1.2(12) 24 W 4000 0.6
A Api
I ]
. N ‘ G|
BlB_. | Leadwire
p 1000mm
i | \ oE

| @l_'l'.

oF he
aC
: +02
|
|
|

pD

R
&l - ]
MWIOS6AA |29 |85 | 72

2>
ve
O
O
m
M
)
T
-
7
r

16| 5 (185

23
B

72136 | 48| 2 | 8 | 4 |[Mb|145| 3 |20 (05| 6 (M5 3 | 3

80



M@) Series

M\ [RSXEERE Wet Multi-plate Brake

ZE 60 3R #& I® SPECIFICATIONS: |
ﬂ .ﬁ g E (DG_V) ];’_’l ﬂ EEEHEE _ ggg#ﬁ i l (kg)
Model Votage | mo0ee | ki | Weight
MBOOSSAA 12V 7.2W 0.5(5.0) 1.0(10) 0.4
S a7 L. 197
/20 ]~ S E—
- -
' 125 0] 16
-— - =i - - Q& 2
| J ) el B ®
. I S
I ! : I Y
| 10 PCD23310.1334.
" - 4-M5*0.8P*8L

ZE 50 57 18 3% SPECIFICATIONS:
By (sEEcv)| NE | AR | SEERR g g
Model Votiage | arz0c | T igmm) | o kgnm) | Weight
MCOOS5AA 12V 7.8W 0.5(5.0) 1.0(10) 0.4

PCDa56+0.1
4-M5*0.8P

81



	臺灣仟岱總圖_75
	臺灣仟岱總圖_76
	臺灣仟岱總圖_77
	臺灣仟岱總圖_78
	臺灣仟岱總圖_79
	臺灣仟岱總圖_80
	臺灣仟岱總圖_81
	臺灣仟岱總圖_82

